DOUBLE-END CLAMP STRAPS

STRAP: 1018 STEEL, CASE HARDENED, BLACK OXIDE FINISH

INFO+: SEE PAGES 102, 295-300, 302-303, 311-314 FOR OTHER MATERIAL SPECIFICATIONS
A STUD OR BOLT

—E—ql ) fE—r

T o ot |
C | CERir Fool
[N T
é T j
] ‘ :
Steel Iﬁ
H

STRAPS — STEEL

PART NO. A B C D E F G H J
Clamp strap with two clamping ends, for CL-23B-CS 1/4-200rMé6 | 3/8 5/8 | 2-1/2| 7/8 | 9/32 | 1/4 |11/32| 3/4
holding two workpieces simultaneously. CL-23D-CS 5/16-18 orM8 | 1/2 3/4 | 3 1-1/2 | 3/8 5/16 | 716 0
Available for 1/4-20 (M) to 3/4-10 (M20) CL-23-CS 3/8-160rM10| 172 | 1-1/8| 3 1 [ 27/64[13/32] 12 1
stud sizes, each in several strap lengths. CL-39-CS 3/4-100rM20| 1 | 1-3/4] 8 [ 31/8113/16| 172 | 19/32[ 1-3/4

[ 1t {
ERUER {1 T
o S8
Spherical Nut Flange Hand Knob with Acorn Nut with Bar Knob with Cam Handle with
& Washer Nut Spherical Washer ~ Spherical Washer ~ Spherical Washer* Spherical Washer
CL-xx-DEA-1 CL-xx-DEA-2 CL-xx-DEA-4 CL-xx-DEA-5 CL-xx-DEA-6 CL-xx-DEA-7
ASSEMBLIES — STEEL (INCH)
SPRING
THREAD CLAMP FLAT &
PART NO. SIZE A B | C STRAP WASHER STUD
CL-1-DEA-x 17420 [2-172| 5/8 | 3/8 | CL-23B-CS CL7-FW €L-1/4:20x250. STUD
CL-5-SPG
CL-1B-DEAX | 5/16-18 3/4 | 12 | cL23D-Cs CL-14-FW CleseTognaiD
3 e
CL-3/8-16x3.00-STUD
CL-2-DEA-x 3/8-16 1-1/8] 172 | CL-23-CS CL-1-FW o B
CL-1/2-13x4.00-STUD
CL-12-DEA-x 1/2-13 ) 1-1/4| 5/8 | CL-30-CS CL2-FW w9
CL-5/8-11x4.50-STUD
CL-13-DEA-x 5/8-11 1-172| 7/8 | CL-33CS CL-3-FW ol -
+ [1BP CL-23-DEAX 3410 | 8 |1-3/4] 1 CL-39-CS CL-4-FW (EL=3/4=T0%5:00:5UD
B + i CL-13-SPG
¥ A ASSEMBLIES — STEEL (METRIC)
r THREAD | A B | C | CLAMP | CLAMP FLAT CLAMPING JAM
| PART NO. SIZE | (mm) | (mm)|(mm)| STRAP | SPRING | WASHER STUD NUT
]_g,\\ T J CLM-0-DEA-x M6 51 16 | 95 |CL-23ACS |CL5-SPG | CL-7-FW CLM-6x65-STUD | CLM-6-N
C- \1BP | CLM-1-DEA- M6 635 | 16 | 95 |CL23B-CS |CL5-SPG | CL-7-FW CLM-6x65-STUD | CLM-6-IN
| CLM-1A-DEA-x M8 51 | 19 | 125 |CL-23C-CS | CL-6-SPG | CL-14-FW | CLM-8x80-STUD | CLM-8IN
QJ CLM-1B-DEAX M8 76 | 19 | 125 | CL-23D-CS | CL6-SPG |CL14FW | CLM-8x80STUD | CLM-8-IN
CLM-2-DEA M10 76 | 285 | 125 |CLl-23CS | CL-7-SPG | CL-1FW CLM-10x80-STUD | CLM-10-IN
A complete clamp-strapassembly ['c| y.4-peax MI0 | 1015 | 285 | 125 |CL24CS | CL7-5PG | CL-I-FW | CLM-10x80-5TUD | CLM-10-IN
using one of the straps shown [ciy.6-DEA-x M10 127 | 285 | 125 |CL-25-CS | CL-7-SPG | CL-1-FW | CLM-10x80-STUD | CLM-10-IN
above. Select any of the six nut/ [ ¢ m-8-DEAx M12 | 1015 | 32 | 16 |CL-27-CS | CL-9SPG | CL2-FW CLM-12x95-STUD | CLM-12-N
knob combinations shown above | cLm-10-DEAx M12 124 | 32 | 16 |CL28-CS | CL9-SPG |CL-2-FW CLM-12x95-STUD | CLM-12-N
by adding the appropriate suffix | CLM-12-DEAx M2 | 1525 | 32 | 16 |CL30-CS | CLO-SPG | CL2FW CLM-12x95-STUD | CLM-12-N
to the part number. Other stud | CLM-15-DEA M16 127 | 38 | 22 | CL-32A-CS | CL-11-SPG | CL-3-FW CLM-16x110-STUD | CLM-16-IN
lengths are available (orderpieces | CLM-13-DEA-x M16 1525 | 38 | 22 |CL-33-CS | CL-11-SPG | CL-3-FW CLM-16x110-STUD | CLM-16-IN
individually). CLM-20-DEA-x M20 | 1525 | 445 [ 255 [CL-37-CS | CL-13-SPG | CLM-10-FW | CLM-20x125-STUD | CLM-20-N
CLM-22-DEAx M20 178 | 445 | 255 | CL-38-CS | CL-13-SPG | CLM-10-FW | CLM-20x125-STUD | CLM-20-N
CLM-23-DEA-x M20 203 | 445 | 255 |CL-39-CS [ CL-13SPG | CLM-10-FW | CLM-20x125-STUD | CLM-20-JN

8/19 | Carr Lane Manufacturing Co. | 261




